Making and installing wooden furniture for different departments

SI No.	Item Description	Quntity	Total rate without tax
1.	Wall Paneling (Make with 12 mm best quality pine wood and best quality polishing)	500 sq-ft	1,37,500.00
2.	Storage Cabinate (East side) 11' (L) x 2.5' (H) x 12" (W) Make with 18 mm IS:710 Grade Plywood, both Side laminate,(outside 1 mm,inner side 0.8 mm) Vertically and Horizontally partition, Double door System,best quality auto hings and D-handels.	1 Nos.	15,000.00
3.	Storage Cabinate (North side) 13' (L) x 54" (H) x 18" (W) Make with 18mm IS:710 Grade Plywood, both Side laminate,(outside 1 mm,inner side 0.8 mm) Vertically and Horizontally partition, Double door System,best quality auto hings and D-handels.	1 Nos.	25,000.00
4.	Storage Cabinate(West side above the window) 4' (L) x 4' (H) x 12" (W) Make with 18mm IS:710 Grade Plywood, both Side laminate,(outside 1 mm,inner side 0.8 mm) Vertically and Horizontally partition, Double door System,best quality auto hings and D-handels.	1 Nos.	9,000.00
5.	Storage Cabinate (Glass Door)(South side) 7' (L) x 2.5' (H) x 14" (W) Make with 18 mm IS:710 Grade Plywood, both Side laminate,(outside 1 mm,inner side 0.8 mm) Vertically and Horizontally partition, Double door System,best quality auto hings and D-handels.	1 Nos.	9,000.00
6.	Wooden Rack (West side below the window) 3' (L) x 2.5' (H) x 14" (W) (Make with Malasiyansal wood frame,leg-2" x 2", Top 1" thick gamari wood and best quality polish.)	1 Nos.	3,000.00
		Total	1,98,500.00
	Add	12% GST	23,820.00

Interior work Estimate of Principal's room of Maharaja Manindrachandracollege

Furniture Estimate of Physics Department of Maharaja Manindrachandra college

SI No.	Item Description	Quntity	Rate/Unit With Out Tax	Total Rate without Tax
1.	High and low Joint Bench (Malasiyan Sal frame,top 1" thick gamari wood) Length 54", leg- 2" x 2", Side Rail- 3" x 1", Tana- 2" x 1", top size- 14" and 12".	10 Nos.	4,200.00	42,000.00
2.	Wooden Arm Chair (Malasiyan Sal frame,top 1" thick gamari wood) Leg -2 x 2,Height-39",Seat height-18", Seat size- 22" x 18" x 18".	2 Nos.	2,600.00	5,200.00
3.	Lab Stool (Malasiyan Sal frame, top 1" Thick gamari wood) 24"(H) x 16" x 12"	40 Nos.	1,600.00	64,000.00
4.	Renovation of a Wooden Table for computer use.	1 Nos.	4,000.00	4,000.00
5.	Painting of Table	7 Nos.	1,000.00	7,000.00
6.	Fiber Door	1 Nos.	2,600.00	2,600.00
7.	L-Shaped Table (Size- 5' x 4' x 30") Malasiyan Sal frame,top 1" thick gamari Leg 2 x2-8 nos.,tana 3 x 1	1 Nos.	8,000.00	8,000.00
8.	Aluminium Sliding Window, panel make from composite sheet. (4' x 3')	1 Nos.	2,800.00	2,800.00
9.	Wooden platform (4' x 3' x 8" Height) Malasiyan Sal frame,leg-3"x 3", top 1"thick ghamari wood.	1 Nos.	3,500.00	3,500.00
10.	Repair of a wooden almirah and painting	1 Nos.	6,000.00	6,000.00

Total	1,45,100.00
Add 12% GST	17,412.00
Grand Total	1,62,512.00

Furniture Estimate of Zoology Department of Maharaja Manindrachandra college

SI No.	Item Description	Quntity	Rate/Unit With Out Tax	Total Rate without Tax
1.	Replacement of table top (7' x 2') (18 mm IS:710 Grade Plywood + 1 mm Thick Lam) Top side cover by teak wood lipping.	6 Nos.	3,000.00	18,000.00
2.	Repairing of wall Almirah and glass replaced (15" x 10"- 6 nos.) and painting.	1 Nos.	3,000.00	3,000.00
3.	Minor Repair of wooden Almirah, Replacement of lock and hinges and painting.	1 Nos.	2,000.00	2,000.00
4.	Replacement of a 5 mm glass(16" x 32") of a skeletal cage	1 Nos.	1,000.00	1,000.0
5.	Replacement of window glass 8 nos (12" x 12")	8 Nos.	250.00	2,000.00
6.	Renovation of a Table(plywood + lam) (size-4' x 2.5')	1 Nos.	3,000.00	3,000.00
7.	Making and installation of a wall almirah with 3 shelves and partition,framemalasiyansal shelve 1" thick gamari wood. (size- 5' x 4'x 18")	1 Nos.	11,000.00	11,000.00
	1	ı	Total	40,000.00

Add 12% GST	4,800.00
Grand Total	44,800.00

Furniture Estimate of Exercise book Store room of Maharaja Manindrachandracollege

SI	Item Description	Quntity	Rate/Unit	Total rate
No.			With Out Tax	without Tax
	Wooden Rack (Three side cover Front side			
1.	open)	1 Nos.	10,000.00	10,000.00
	Size-8'(L) x 4'-9" (H) x 15" (W)			
	Malasiyan Sal frame, leg 2" x 2", Shelves (4			
	nos.) 1" thick gamari wood and painting			
	Wooden Rack (Three side cover Front side			
2.	open)	1 Nos.	9,000.00	9,000.00
	Size-6.5'(L) x 45" (H) x 15" (W)			
	Malasiyan Sal frame, leg 2" x 2", Shelves (4			
	nos.) 1" thick gamari wood and painting			
	Wooden platform (55" x 72")			
3.	Malasiyan Sal wood frame, top 1" thick	1 Nos.	8,000.00	8,000.00
	gamari wood, leg-3" x 3" and painting.			
			Total	27,000.00
			Add 12% GST	3,240.00
			Grand Total	30,240.00

Total Interior work Estimate of Principal's room of Maharaja Manindrachandra college (Without Tax)	1,98,500.00
Total Furniture Estimate of Physics Department of Maharaja Manindrachandra college (Without Tax)	1,45,100.00
Total Furniture Estimate of Zoology Department of Maharaja Manindrachandra college (Without Tax)	40,000.00
Total Furniture Estimate of Exercise book Store room of Maharaja Manindrachandra college (Without Tax)	27,000.00
Total	4,10,600.00
Add 12% GST	49,272.00
Grand Total	4,59,872.00